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B I o 2 g 32 A 14, 322, 000 14, 053, 000 269, 000 98.12%
* Tk B0 4 A 821, 000 822, 000 A1, 000 100. 12 %
& 7% £ 48 4T A 11, 443, 000 11,016, 000 427, 000 96.27 %
B Z O F LA 2, 058, 000 2,215, 000 A157, 000 107. 63 %
i B & F LA (A%) 2, 040, 000 2,197,000 A157, 000 107.70 %
£ 84 LA (— 1) 18,000 18, 000, 0 100. 00 %
B |AEIEE SR A - A TS R N 137, 865 137, 865 0 100. 00 %
I R T NI R 137, 865 137, 865 0 100. 00 %
S TN 489, 674 489, 674 0 100. 00 %
2 HURLEEL Y & IA 588 588 0 100. 00 %

Z DM OB A 4, 403, 370 4, 414, 230 A10, 860 100. 25 %
HEIA 4, 403, 370 4, 414,230 A10, 860 100. 25 %
FEEBIAG () 19, 353, 497 19, 095, 357 258, 140 98.67 %

N St 98, 662, 450 98, 466, 564 195, 886 99. 80 %

% B % 9, 150, 000 9,110, 000, 40, 000 99. 56 %

A B 8, 400, 000 8, 400, 000, 0 100. 00 %

I 4 ) A BB 750, 000 710, 000 40, 000 94. 67 %

Wk B B4 32 52,073, 230 52,072, 392 838 100. 00 %

W ELE - 16, 202, 434 16, 202, 434 0 100. 00 %

S B 53 2, 638, 336 2,637, 362 974 99.96 %

I 5 I LA 2, 459, 000 2, 458, 348 652 99.97 %

8B FE I 6 55 1 20, 000 20, 000 0 100. 00 %

I % BB 55 159, 336 159, 014 322 99. 80 %

VR I 22 2, 134, 000 2,133,079 921 99.96 %

ARBRAS (3 4,288, 450 4,288, 450 0 100. 00 %

BN 4 52 1 2, 419, 450 2, 419, 450, 0 100. 00 %

BT T 2 45 9 6 S 1,869, 000 1,869, 000 0 100. 00 %

VT AR 2 S 12, 176, 000 12,022, 847 153, 153 98.74 %

EES Sl 1,399, 900 1,470, 767 AT0, 867 105. 06 %
e Sl 41, 000 40, 726 274 99.33%

K38 B 3 H 854, 000 925, 201 AT1, 201 108. 34 %

(R BB S 1Y 222,035 222,035 0 100. 00 %

SO 2 % 145, 000 144, 940 60 99. 96 %

T T 2 S 137, 865 137, 865 0 100. 00 %

A T VR SRR 137, 865 137, 865 0 100. 00 %
HHRE M 52, 409, 500 52,293, 146 116, 354 99.78 %

fE R A B 15, 839, 700 15, 838, 952 748 100. 00 %

TR A 2 5 1,586, 700 1,586, 440 260 99.98 %

TP FENE T8 K 14, 253, 000 14,252,512 488 100. 00 %

i B 4 R 2 2 1 112, 000 11,771 229 99. 80 %

i 2 22 i 2% 5 26, 000 25, 490 510 98.04 %

FFERF 52 2 % 1,303, 000 1,302, 676 324 99.98 %

S T 8 9 4 1,329, 000 1,328, 642 358 99.97 %

IR A 2% 2 4 1,139, 800 1,139, 148 652 99.94 %

ke 2 32 102, 000 101, 750 250 99.75%

3T 15 6 4 2% 52 1 1,319, 000 1,318, 821 179 99.99 %

L M 150, 000 147, 887 2,113 98.59 %

TR % 1, 445, 000 1, 444, 800 200 99.99 %

E3 T T S 5,192, 000 5,083, 975 108, 025 97.92 %
ERY T T2 S 112, 000 111,975 25 99.98 %

T S 5, 080, 000 4,972, 000, 108, 000 97.87%
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FHOBL 15, 426, 000 15, 425, 310 690 100. 00 %
o - FE AR 831, 000 831, 000 0 100. 00 %
HLBL 2 5 1 170, 000 169, 110 890 99. 48 %
RSP 1 1,934, 000 1,933, 263 737 99. 96 %
TS S 5, 687, 000 5, 686, 951 49 100. 00 %
FEy Sl 344, 000 343, 800 200 99.94 9%
e 60, 000 59, 800 200 99. 67 %
M 30, 000 30, 000 0 100. 00 %
B - S S 30, 000 29, 800 200 99. 33 %
AL X 1,245,043 1,192, 229 52, 814 95.76 %
RSB HE ) 153, 716, 893 153, 422, 706 294, 187 99.81%
HRIEHE LI AEE3)=(1)-(2) A134,363,396  A134, 327,349 A36, 047 99.97 %
i | 1%
BA it 23 B B S A B (4) 0 0 0
B | 3| @ o i o A 2 o4 1,888,000 1,887, 600 400 99.98 %
LIS Sod 110 S At 1, 888, 000 1,887, 600 400 99. 98 %
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e
*x il 3 e 55 % ML (5) 1, 888, 000 1,887, 600 400 99. 98 %
B 0 5 0 4 IS5 %8 (6) = (4) — (5) A1, 888,000 A1, 887,600 A400 99. 98 %
(I |5 57 i 7 T A 1,372, 080 1,372, 080 0 100. 00 %
DIA| B 512 % BUR A 1,372, 080 1,372, 080 0 100. 00 %
) R AL IA 286, 000 286, 000 0 100. 00 %
D |44 5 e A &I A 135, 529, 848 135, 529, 848 0 100. 00 %
] Z DO EBIAGE (1 137,187,928 137,187,928 0 100. 00 %
B 32| e 835, 824 835, 824 0 100. 00 %
I SR a1 835, 824 835, 824 0 100. 00 %
$| (R mgALEH 58, 672 58, 672 0 100. 00 %
B |zomomsic ks 78, 583 78, 583 0 100. 00 %
i B 1WA 2 3 4 78, 583 78, 583 0 100. 00 %
X B VAL (R IR 1 56, 583 56, 583 0 100. 00 %
Ot > £ 91 B 4 2 B 2 22, 000 22, 000 0 100. 00 %
2 Dl DG B HiEE(8) 973,079 973, 079 0 100. 00 %
Z DO EBE & IEGER(9) = (D - (8) 136, 214, 849 136, 214, 849 0 100. 00 %
T i B 3 H (10) 0 0 0
0
4 A SRR A B (1) =(3) +(6) +(9) - (10) A36, 547 A100 A36, 447 0.27%
HT R YA oAk (12) 4,837,599 4,837,599 0 100. 00 %
SR A e (1) +(12) 4,801, 052 4,837,499 A36, 447 100. 76 %




